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LA Pk 7S SEH| /N5 4/ 2 35.25 9%% ( 0.57)
2 =R EBEAR 7S SER /N4 2/ 7 40.72 6% ( 0.63)
3 /AR A IZD AR /N5 1/ 3 41.54 5#% ( 0.64)
4 deri H JSSERR /M 2/ 1 42.38 5#% ( 0.78)
5 AN PR WA A N5 2/ 2 42.74 4%% ( 0.78)
6 = H&R T S SR /N4 1/ 4 43. 84 6% ( 0.60)
(G 7 =1US Aa—L Tk /M 1/ 5 45.02 5%% ( 0.69)
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3 JIE A J S SiEH NG 3/ 5 36. 32 7#% ( 0.76)
4 KEBL A3 JSSAERR /6  3/6 37.13 6:% ( 0.59)
5 AR oAs BAEY S C /)b 3/ 8 38.09 65% ( 0.64)
6 FJI v Aa— LIl /e 2/ 5 38.39 6% ( 0.71)
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AR mese 7S S&EH =g 4/ 4 30.5ﬁ7 9%% ( 0.57)
2H
2 pH B HEEY S C &3 4/ 6 33.53 65% ( 0.66)
3 By A& NMES F h3 4/ 7 35. 45 5%% ( 0.62)

TH31H 10:22



